3

Leece-Meville

SERVICE PARTS LIST

HEAVY DUTY SYSTEMS
PRODUCTS COVERED
GROUP:| 5520AB
MODEL [VOLTS| AMPS
FORM: | 4678-1087 5520AB | 28 180
FILE: Alternator Parts List Section -
DATE: |October, 1987 a@\\

2

|

32
Ref. Part Ref. Part
No. No. Qty. Description No. No. Qty. Description
1 36499 1 Nut, 1/2-20 Hex. Lock 23 36604 1 Rotor Assy.
2 3249 1 Washer, Shaft 24 36605 1 Bearing, Ball #205 PP
3 13943 4 Screw, 8-32 25 36052 1 Housing, D.E.
4 Not Used 26 95833 1 Holder & Block Assy.
5 Not Used 27 71282 2 Block, Drive
6 95834 1 Fan 28 71261 1 Shaft & Cam Assy., Spline
7 13762 1 Key, #2 Woodruff 29 38056 1 Plate, Cover
8 3322 3  Screw, 8-32 x 3/8 Fl. Hd. 30 36325 6 Lockwasher, Tabbed
9 21656 1 Retainer, Bearing 31 5584 16 Lockwasher, #6
10 28441 1 Bearing, Ball 204PP 32 36324 12 Screw, 6-32 x 3/8 Hex. Hd.
1 5579 4 Screw, 8-32 x 7/8 Fl Hd. 33 30873 1 Ring, Snap
12 58831 1 Housing, S.R. End 34 54291 12 Screw, 1/4-20 x 3/4 Soc. Hd. Cap.
13 30848 1 Retainer, Bearing 35 2523 12 Lockwasher, 1/4
14 36610 1 Rigging Assy., Brush 36 30872 1 Key
15 100487 1 Connector Assy. 37 6810 5 Screw, #6 Drive
16 2435 8 Lockwasher, #8 38 35049 4 Brush
17 7273 2 Screw, 8-32 x 1/2 Fl. Hd. 39 6812 2 Lockwasher, Tabbed
18 7984 2 Screw, 8-32 x 7/8 Fl. Hd. 40 2434 7 Lockwasher #10
19 59832 1 Cover, Terminal 41 36817 7 Screw, 10-32 x 2%: Soc. Hd. Cap
20 100489 1 Stator Assy. 42 Not Used
21 59870 1 Shroud, Air 43 100480 1 Conn. & Jump. Assy. (incl. #15)
22 38724 1 Stip Ring 44 2525 2 Nut, 8-32 Hex. Br.

Form 4678-1087

© 1987 Prestolite Electric Incorporated

Printed in U.S.A.

Important:  The information contained in this bulletin is intended for use by trained, professional technicians who have the proper tools equipment, and training to perform
the required maintenance described above.This information is NOT intended for ‘do-it-yourselfers’, and you should not assume that this information applies to your equip-
ment. If you have any questions regarding this information please visit our website at www .prestolite.com , or contact our customer service department at:

Leece-Neville Heavy Duty Systems
7585 Empire Drive
Florence, KY 41042

(800) 354-0560
(859) 525-8801
info@prestolite.com




